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Pointnet++ on CEPC calorimeter

» 2-category classification ey
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Pointnet++ on CEPC calorimeteis.

» 2-category classification ey
Sp: Sphericity
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By the standard diagonalization of
SeB one may find three eigenvalues
A=A, =\, with A+, +Hhe=1.
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Pointnet++ on CEPC calorimeter

Fox-Wolfram moments:

H,

for j in

hitx
hity
Nitz
hikx:
hity_
hitz
Px =
Py

PZ

P=n

Energ

1pill pjl
= —FJ—P](COSHI"})

= replaced by P

rénge(len(data)):

= dataljl[:, 0]
= datalj][:, 1]
= dataljl[:, 2]
av = np.sum(hitx)/len(dataljl)
av = np.sum(hity)/len(datalil]
av = np.sum(hity)/len(datalj])
hitx - hitx_av
hity - hity_av
hitz - hitz_av

p.sqrt (Px#x2+Pyxx2+Pzx*2)

Y = hb.sum(P)

How to process “E” in a shower?

There’re many points in a shower with information x,y,z,E,T
But E is deposited energy and the points have no energy
information.

Center of the shower: (hitx_av, hity_av, hitz_av)

The distance from each point to the center point is taken as

the momentum value.

pdl momentum added up is considered as the shower’s energy.

1) To draw the shape variable Thrust (defined as the
direction which maximizes the sum of the longitudinal
momenta of the energy clusters.

2) To finish coding the reconstruction efficiency of 2-
track events and draw some figs.



